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JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET| I EsA ERsH &EH (H) | (&)
kel 48, 269 109, 775] 53, 452] 56, 323 37 -18 55 51 106 37 412] 375 0 129 129
HI—TH 7071l 1,504 736 768 0 0 0 1 1 -2 3 5 2 4 2
FLl T H 565 1,309 649 660 1 -2 —4 0 4 1 4 3 1 1 0
LI =TH 462 1,039 506 533 -5 -5 -1 1 2 -3 0 3 -1 0 1
SLbAEH 1,734 3,852] 1,891 1,961 —4 -7 -5 2 7 —4 7 11 2 5 3
Sk —TH 471 946 444 502 -2 -8 -1 0 1 -5 2 7 -2 0 2
. = 739 1,738 838 900 0 -3 -2 0 2 -1 1 2 0 1 1
SR —TH 550 1,297 621 676 5 9 -1 1 2 3 5 2 7 7 0
S AT H 401 897 443 454 -2 —4 -1 0 1 -2 0 2 -1 1 2
o h ] B 610[ 1,329 642 687 -1 0 1 2 1 -1 4 5 0 1 1
BN T B 235 507 252 255 2 2 0 0 0 2 3 1 0 0 0
ARt TH 650/ 1,685 813 872 -2 —4 -3 0 3 0 4 4 -1 2 3
oA\ T H 390 864 406 458 4 6 -1 1 2 0 4 4 7 7 0
IV B 607| 1,453 719 734 -3 —4 -2 1 3 -2 0 2 0 0 0
S e atl 4,653 10,716] 5,178 5,538 1 —6 -10 5 15 —6 23 29 10 19 9
e n—1H 350 809 399 410 2 -1 -2 0 2 1 3 2 0 0 0
e T H 997|l 2,106] 1,061 1,045 -1 -6 -5 1 6 2 7 5 -3 0 3
HHk o —TH 683 1,418 700 718 0 -8 —4 0 4 2 3 1 —6 0 6
Wk A Erl 2,0300  4,333] 2,160] 2,173 1| -15[  -11 1 12 5 13 8 -9 0 9
Mt A — T H 546[ 1,230 602 628 5 12 0 0 0 10 13 3 2 2 0
ek R _TH 353 920 474 446 —4 —7 -1 1 2 —6 0 6 0 0 0
Mk R =TH 257 548 282 266 2 -1 0 0 0 -2 4 6 1 1 0
ik L G| 556[ 1,290 650 640 0 0 0 1 1 0 2 2 0 1 1
mskr aaEt] 1,712 3,988 2,008 1,980 3 4 -1 2 3 2 19 17 3 4 1
TEIT) 362 847 412 435 -1 -5 -3 0 3 -3 0 3 1 1 0
HOEEN— T H 211 437 212 225 0 0 0 0 0 0 0 0 0 0 0
HOEE T H 425 956 461 495 -4 -11 1 1 of -11 3 14 -1 0 1
HoEEI =T H 687 1,716 845 871 -1 -2 1 1 0 -1 2 3 -2 1 3
HOEEAN T H 809 2,037| 1,006 1,031 -2 -2 2 2 0 -3 2 5 -1 2 3
HEROH T H 439 1,029 518 511 0 0 1 1 0 -1 3 4 0 1 1
HOEEIS T H 400 901 444 457 0 -1 -2 0 2 3 4 1 -2 0 2
HoEEOETH 665 1,463 708 755 2 5 1 1 0 3 10 7 1 1 0
HOEESOSE 3,636 8,539 4,194| 4,345 -5 -11 4 6 2l =10 24 34 -5 5 10
PEEER 1,503 2,811 1,335 1,476 4 -3 —4 0 4 2 10 8 -1 0 1
FHIAR 306 642 337 305 0 0 -2 0 2 2 3 1 0 0 0
EE g —T 549l 1,110 514 596 0 4 4 4 0 —4 1 5 4 4 0
EE g — T 255 518 261 257 -1 -3 0 0 0 -3 1 4 0 0 0
R =T H 522 1,163 582 581 1 1 0 1 1 -1 0 1 2 2 0
TEE Py T 625/ 1,297 618 679 —4 -8 -1 0 1 -7 4 11 0 1 1
EEP g R T H 238 546 273 273 -1 —4 0 0 0 —4 0 4 0 0 0
EERP A2 2 189 4,634]  2,248| 2,386 -5 =10 3 5 ol -19 6 25 6 7 1
EEIARRT— T H 675/ 1,373 652 721 -1 -1 0 0 0 1 6 5 -2 3 5
EEIARRT T H 658 1,284 601 683 2 -5 -1 0 1 3 9 6 -7 1 8
EEOARRTAE 1,333 2,657 1,253 1,404 1 -6 -1 0 1 4 15 11 -9 4 13
RPN 283 791 429 362 0 0 1 2 1 0 0 0 -1 0 1
WHR—TH 717 1,644 807 837 4 2 -1 1 2 2 7 5 1 2 1
R T H| 1,758 4,000 1,929] 2,071 5 0 0 2 2 9 19 10 -9 0 9
WHR=TH 863l 2,203] 1,080 1,123 5 14 -1 1 2 1 7 6 14 14 0
HHRIT H 494 1,183 562 621 -7 -7 0 0 0 -7 4 11 0 0 0
HPREEH 3,832 9,030 4,378 4,652 7 9 -2 4 6 5 37 32 6 16 10
HiR—TH 684 1,542 747 795 6 11 1 1 0 5 2 5 5 0
LR - TH 926 2,235 1,109 1,126 -6  -16 —/ 0 4 -13 16 1 2 1
PR =TH 484| 1,040 533 507 -5 -5 -3 1 4 0 3 -2 0 2
JdRAE 2,004 4,817 2,389 2,428 -5 =10 -6 2 8 -8 13 21 4 7 3
T IROBTHT 327 808 388 420 1 -1 0 0 0 3 3 —4 0 4
el 1,609 5,135 2,293 2,842 -2 —4 -8 0 8 8 13 —4 0 4
M E T H 730 1,719 836 883 3 -3 -1 1 2 -1 6 -1 3 4
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FYlE 1T H 748l 1,812 914 898 3 1 -2 1 3 3 3 0 0 0 0
MoE =1 H 644/ 1,516 753 763 1 8 -1 0 1 7 11 4 2 4 2
A EN T H 932| 2,243| 1,059 1,184 -2 2 1 2 1 —4 3 7 5 7 2
RCENNE 634 1,453 715 738 4 7 -1 0 1 5 5 0 3 3 0
MAEST H 417 980 460 520 3 3 0 0 0 2 0 1 1 0
e AR 4,105 9,723] 4,737| 4,986 12 18 —4 4 8 12 30 18 10 18 8
VEPIe S 562l 1,132 563 569 0 2 -1 1 2 3 4 1 0 3 3
e —TH 314 696 333 363 5 0 1 1 8 9 1 1 1 0
i — T H 5951 1,333 632 701 0 -1 2 2 0 -3 2 5 0 0 0
A gl 909 2,029 965| 1,064 5 8 2 3 1 5 11 1 1 0
Eh— 1 H 329 701 366 335 -1 1 -1 0 1 3 27 24 -1 0 1
B — T H 637 1,377 658 719 1 1 0 0 0 1 3 2 0 0 0
=T H 396 1,053 523 530 0 -3 -1 0 1 0 4 4 -2 1 3
EAE 1,3620 3,131 1,547 1,584 0 -1 -2 0 2 4 34 30 -3 1 4
e —TH 382 931 437 494 3 1 -1 0 1 0 2 2 2 0
WHE T H 4421 1,083 547 536 -2 -3 -1 0 1 0 0 -2 0 2
HWHE =T H 791 1,952 995 957 6 15 1 1 0 11 15 4 3 6 3
W& T B 4491 1,043 506 537 -2 -6 0 0 0 -2 2 4 -4 0 4
B E ] H 820l 1,765 869 896 3 -1 0 0 0 5 7 2 -6 1 7
HHIENT H 239 500 251 249 -3 —4 1 1 0 -2 3 -3 0 3
HEOEr 3,123 7,274| 3,605 3,669 5 2 0 2 2 12 27 15|  -10 9 19
<HWE—TH 605| 1,386 673 713 -2 ~7 -3 0 3 —4 11 0 0 0
<HEIL—TH 715 1,491 725 766 -1 —4 0 0 0 -1 7 -3 0 3
SHBEIL=TH 518 1,130 554 576 0 4 0 2 2 5 4 -1 0 1
<HEWLPTH 570(l 1,176 583 593 -1 0 -2 0 2 2 10 8 0 2 2
<O T H 299 666 356 310 —4 —7 0 0 0 -3 0 3 —4 0 4
<WEEEH 2,707 5,849 2,891 2,958 -8 -14 -5 2 7 -1 32 33 -8 2 10
WIE AR —TH 784 1,697 843 854 6 10 0 1 1 8 14 6 2 4 2
WIEAR T H 462 1,112 574 538 -3 0 -3 0 3 0 4 4 3 3 0
PIEARTSE 1,246]  2,809] 1,417 1,392 3 10 -3 1 4 8 18 10 5 7 2
s 396 769 358 411 -2 -1 1 1 0 0 2 2 -2 0 2
ek —TH|[ 1,078 1,726 779 947 —6 —4 1 1 0 -5 6 11 0 2 2
e T H 423 718 352 366 3 -2 0 0 0 -6 5 11 4 4 0
kR =T H 664/ 1,725 813 912 5 6 0 0 0 4 11 7 2 5 3
sk BRI H 399 840 406 434 7 6 1 1 0 6 10 4 -1 2 3
o aaEl 2,564 5,009 2,350] 2,659 9 6 2 2 0 -1 32 33 5 13 8
FRIREET 20 54 28 26 0 0 0 0 0 0 0 0 0 0 0
B 749 1,742 842 900 3 0 -1 1 2 4 7 3 -3 1 4
VEEE 321 726 329 397 10 14 0 0 0 9 10 1 5 5 0
e — T H 454 1,130 557 573 5 3 0 1 1 3 7 4 0 0 0
e T H 402 919 449 470 0 1 1 1 0 0 0 0 0 0 0
oo B R 856 2,049| 1,006 1,043 5 4 1 2 1 3 7 4 0 0 0
P — T H 676l 1,377 690 687 -2 -1 1 1 0 -3 4 7 1 1 0
P T H 538| 1,309 618 691 0 0 1 1 1 2 1 0 0 0
Ve A et 1,214 2,686 1,308 1,378 -2 1 2 1 -2 6 8 1 1 0
P e 320 686 345 341 1 0 1 1 0 6 6 0 0 0
BEHIR 212 507 268 239 0 -1 -1 0 1 0 0 0 0 0




